91.

93.
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101 7
(1) 150 (2) 150

9 3
3) 200 (4) 100

(18]

PART-IV BOOKLET @
MATHEMATICS
There are three sectors in a pie- [ 94, Ina AABC,if|A =90° and |B = 2(C,
diagram. If the angles of two sectors then [C iS .ooooeor '
are 80° and 140° then the angle of
the third Sectoris ............... ¥ AABCE*|A =90°, [B =2C o
LY TS TPOEPR) Wi Ve |C 2655 wereaenee
Do Dmrto. 80° 500k 140° o Sered’ (1) 15° @) 30°
Ttk BFE0L0 NS, HArED LW Shes0 (3) 450 @ 90°
(1) 220° (2) 60° b
(3) 140° (4) 80° 95. The present age of a father is 42
- — years and of his son is 12 years. The
A cricket ball's cost is Rs. 36 and the ratio of age of the father to his son 2
cost of a cricket bat is 12% times that YEArs ag0 Was .ooooocvveen
of the cost of the cricket ball. The
] i ] Do, HRIPEE (5450 Bt WS 42
cost of the cricket bat (in rupees)is .., | sy, 12 BT oS S 9
o BB 1300 5 6. 36. RS ergS 5o &5 5RO (350 TO HAXHRO NP cevvsees
go@é&ﬁ:l29§6¢agm}?5‘u[§5@55 (1) 7:2 2 4:1
55 (6. 069 3) 2:7 @) 1:4
1Y) 450 (2) 350
(3) 550 (4) 650 96. If 2 m. 60 cm cloth is required for
one shirt, then the cloth required for
1 1 2
The value of ( £ —3_2] (12 -.Zz—) 7 shirtsis .....ccceeeee.

(1) 14 m. 80 cms

(2) 18 m. 20 cms

(3) 15m. 20 cms

(4) 16 m. 80 cms

25 Sy 2 8. 60 o520, 105 st
T Tom,en ST 106 e

(1) 14 5. 80 o.0.

(2) 18 Do. 20 o.0.

(3) 15 0. 20 Do.2o.
(4) 16 2 80 e.o0.
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97. The value of J1.44 X 6.25 1S coeveeeeen

1.44 x 6.25 GI0%), DB weevenees
(1) 2
(2) 1
(3) 4
(4) 3
98, If x, y, z are any three rational
numbers and if x>y,¥>2, then
x >z . This property is known as .....

(1) Law of Tricotomy

(2) Transitive Property |

(3) Associative Property
(4) Closure Property

X, Y, 2 €0 Jew) DO eEEEACH 3o,

X>Y,¥Y>Z Qoo x>2 etoed. T4

(1) e Dged S50
| (2) oo sl

(3) SR HEe

(4) el Ee

A school has 560 students. If the
number of girls is 14%% of the
number of boys, then the number of
girls in the school i ...cocounees

L% Sed’ 560 Heol DTrdises Sote.
08 Bse Sopg westsopg 147%
s & e wde o

(1) 320

(2) 80

(4) 490
W-21/TET-111-EM/TM
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100. If a clock shows 8 o'clock, then the
angle between the two handsis .......

KEQERTEE! 8 Noweibpts Tats L%
5505, E5er0

(1) 240°

(3) 145°

(4) 125°

101. To represent equal numerical
values, same type of diagrams are

(1) bar diagrams
(2) pie diagrams
(3) sectors

| (4) pictographs |

LR BoPg VEWOR> BIPIOBILE 3
s B SRRt DB
(1) 325 gres
(2) PoEtrlpes
(3) zrtoee
(4) S Qgree

102. There are some bags, where 21 bags
are kept in each room. If the bags
are kept in 16's and 20's per room,
4 bags are left out. The total number
of bags that are there in allis .......

oS5, 106" 21 Tiayd T FFY w0
Sog). e pProw L8N ros® 16 o5 20

s

u@wéo&:wﬂﬁo‘bﬁ‘@@@*&49_§_:@“

P.T.O.
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3
7

9 AR\
103. The value of 17 Xl g] is
x[i

7
117
595
117
595
595
117

i P
]

5}5&5

1)

(2)

(3)

104. The ratio between Rs. 2 and 60 paise
is
B, 2 3500010 60 200 85 NHO e
(1) 1:30
(2) 30:1
(3) 10:3

4) 3:10

...............

105. If one angle is the.averagc of the
other two angles and the difference
between the greatest and least
angles is 60° then the formed

triangleiscalled ...............
(1) an isosceles triangle
(2) an equilateral triangle

| (3) a right angled triangle |

(4) aright angled isosceles triangle
¥ (Sgoeneot® w8 Siesiod JoATS Tot
Seme 15050 0o 1833, KR Seme Sy
Beises 60° woasd & (Sown
@A) o5 :3:0&5 23"‘:7‘3@@8:0
A2) w5 petter VAt

[ £3) o% wcwS'r S&bwo |

{Wi) 2.5 0T wowSm (Ggowe

W-21/TET-111-EM/TM
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106. The difference between the largest
6 digit number and the smallest

5 digit numberis ....

esto 030 23D 1E Jopgts, & wose

03,8 D Sepg o R
(1) 999998
(2) 888588
(3) 988888
(4) 989999

107. The summer vacation was declared
for all the schools from April 24*. If
the vacation is for 49 days, then the

schools reopen on
(1) June 11*
_(2) June 12%

(3) June 10"

(4) June 13®

ey FoTees Dpoid 24 5 BOed U
Do PEdoTs, dopes 49 Fwds
FoTo0s PPN B s

(1) &5, 11

(3) &=, 10

(4) &~5,13

...............

108. If two-thirds, half and one-seventh
of a number is added to itself, the
resultis 37. Then the numberis........
L S0y GIoo, 2/3 % grTeis, S Kol
17 5 gerises & Sopgs $0u0S o0 Do

37 WC0D, & BOPg srarereses
2 2z
i T
(1 14 (2) 16—
3) 18> ) 15—
97 97
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109. The valuicol a v
A

every year by 5%.
value of the vehicle is Rs. 50,000,

then its value after two years (in

itle depreciates

If the present

rupees) is ...

- ~L
fok 5

(3) 52,500

(2) 47,500
(4) 54,875
110. The center and end points of an arc
of a circle are collinear. The arc is
calledas aueiaiionens
(1) diameter
(2) chord
(3) major arc
| (4) semicircle | s

w5 D TGN 50 Dotvges, &

piSSoes SED oL e TSR
(1) o

b

111. If = =2 and %:3, then the value
(
a+b .
nfb+c T DA
b _ 9 asbaun & Ll De
= w0 J =K== CO0I0W S0
a I 3 b+c
(1 c (2) E
) 3 3
(3 & 4 -
3) 3 (4) 5

W-21/TET-111-EM/TM
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112. The cost of 4 dozen papers is Rs. 24.
The cost of 1 score of papers (in

rupees)is ..o

Tresln Swd TGRC o G 24 ec0d

o 35,8 ORe 20 (5;‘.065)
(1) 40
(2) 20
(3) 10
(4) 42

113. The perimeter of a semicircle

is 36 cms. Its diameter

(in centimeters)is ............

W% 230.00. WO T
TG0 (Ro.d0.08")

(7

(3) 22

(4) 35

0.2727......c00000 +0.7373....... Jwo0
(1) 1.001

A2) 1.01

(3) 1.0202..........

(4) 1.0101.

[21]
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115.

The author of 'Pancha Siddhantika'
is

(1) Aryabhatta

(2) Varahamihira

(3) Bhaskaracharya
(4) Brahmagupta
“EoUw ?az::c@g” (He&sY

(1) st

(2) Sorrmsrbots

116.

(3) T ooy

(4) [esiamyiion

The terminal competency to be

achieved in Geometry at the

primary stage is ......cc....

(1) to understand the types of
triangles

(2) to draw a circle when radius is
given

(3) to draw an angle equal to the

given angle

(4) to express the concept of a circle

and technical words associated

with it

Y Pooos® @RSt FHouBold

O TGO -

(1) ©eow e oomms Ssshon

(2) ?}g.u a2y pyos Actase

(3) 5oy Seanonsts SRRy SPrase
Aotiaoe

(4) HEeras, radsewelons FORS
Sorehs G Tedetow

—

W-21/TET-111-EM/TM

117.

Students are asked to find the
various characteristics of a rectangle
by using a geometric box. The
teaching method adopted is the ......

(1) playway method
(2) problem solving method

(3) Heuristic method |

118.

[22]

(4) project method

Heo SONTPe DI &BGIFNon SUHaLEse
GooY), DL LT SRR LTt
)

g Tas

55425, 3&—\—‘56‘3 P’

(» Em::éa

-

(2) soisg 9030 855
(3) g 35O

(4) af s

In the lesson plan presently being
prepared in schools, the aspect to be
indicated after content analysisis ....

(1) teaching learning activities

(2) competencies to be achieved

(3) teaching learning material

(4) evaluation

S50 SuTood® Barts Dot ENR

g Spses® et TR SOV BrRod

Sen escte

(1) SHTEFSS P
PE

(3) Samrgss Faoh

(4) Lroelie
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119. "Student verifies the outcome when

two fractions are multiplied". This
specification belongs to the objective

(1) understanding

W-21/TET-111-EM/TM

(2) knowledge

(3) application

(4) skill

“Toks Dy Kertolm B HOTEY
TG BOLFWR 98 T oS Dol
Syaities

(2) s

(3) oG

(4) BDeagas

(23]
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120. To evaluate a text book as per the

Hunter's score card, the content is
to be assessed for ............ points.
08, 38,6 58 esprliom w8 ST
Saroresivo DTN Py VREPEY
Fa200LE BoDe DAY

(1) 50

(3) 100

(4) 300

P.T.O.
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